1. Which of the following functions is an even function?  
3. _______

EXPLAIN your decision.


A.  
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B.  f(x) = |6x + 8|


C.  f(x) = 3 –  x2

D.  
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2.  A graph of y = f (x) follows. No formula for f is given. 
4. _______

Which graph (A, B, C, or D) represents the graph of y =  f(x – 1) –  2 ?

EXPLAIN how you have decided which graph is the correct one.


(Grid supplied for scratch work; You are NOT required to submit your own graph)




A.
B.



C.
D.

3. Consider the equation  3x2 – 4x + 7 = 0.

(a) Find the discriminant, b2 – 4ac, and then determine whether one real-number solution, two different real-number solutions, or two different imaginary-number solutions exist.

(b) Use the quadratic formula to find the exact solutions of the equation. Show work.
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